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+,#5;B 5 o+
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$ > ; =6
4 ; < >
B 7 > ; ’ $ O 5 D A - _<
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INIOYPOYHOE IINTAHUPOBAHUE
10 KITACC

Kosaun4yecTBo 4acoB JJIeKTPOHHbBbIE
uugpoBbIe
Nen/m | Tema ypoka KonTposabHbie p
Bcero o0pa3oBaTe/bHbIE
padoTsbI
pecypcsbl
05 D A
57 % $$ + UWWXETZ [\X]] " V" S[aaet-
. ; 05 D A
57 % 578 5i< - B4 UWWXMYZ [\X]]1 » V'S[aaalf
05 D A
& B i< 38 < 57% UIWYETZ [\X]] _V"S[aaa!f
:C +B ;; 57 $ # 05 D A
$5::% UMIXFYZ [\X]1"_Y'S[aaS -
+$8 <8 ++ ; B= 05 D A

UNWWXFYZ [\X]] " Y'S[aaS -

! 5 5 4
5 ,B4 4
05 D A
K3$ 8 +55+578 UMWXFTZ [\X]] " V'S[afT[1
% ; ; ; 3 B $3$ 05 D A
$B ,B UMWXFZ [\X]] " V'S[ae %-
57$% ;; ; ;

05 D A
UWWXFYZ [\X]] " V"S[ae[Tf




05 D A
UWWXFYZ [\X]] " _Y"S[ae&la

05 D A
UWWXFYZ [\X]] " Y"S[ae!!f

05 D A
UWWXFYZ [\X]] "_Y"S[aef&!

05 D A
UWWXFYZ [\XT] " Y'S[aeeff

05 D A
UNWWXFYZ [\XTT " Y STae\&%

+ ¢J

; 9557 67

57 %

g

05 D A
UNWWXFYZ [\X]] * Y'S[aa[[a

; 9557 67

57 %

g

05 D A
UWWXFYZ [\XT] "_Y"S[a\%1!

4 ;8

05 D A
UWWXFYZ [\XT] " Y'S[ae[Tf

%

05 D A
UNWWXFYZ [\X]] " Y"S[affS

05 D A
UNWWXFYZ [\X]] " Y'S[afe2a

05 D A
UMWXFYZ [\X]] *_Y"S[afa\

05 D A
UWWXFYZ [\X]] " _Y"S[aa &%

05 D A
UNWWXFYZ [\XT] " V" S[aa%21

05 D A




UWWXFYZ [\XT] ™ Y S[ae\&%
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& $4 i $C ® 5 ;4 05 D A
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$ 3%
% : 9557 67 = 05 D A
+ g8 ;4 g UWWXEYZ [\X]1 " V' S[aal%
. ;9557 67 = 05 DA
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05 D A
UWWXFYZ [\X]] * Y"S[a'S2!
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05 D A
UWWXFYZ [\X]] " Y'S[a'S21!

05 D A
UNWWXFYZ [T\XTT ™ Y S[a\&1%

05 D A
UWWXFYZ [\XTJ] ™ Y S[a\S -

05 D A
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05 D A
UNWWXFYZ [\X]] " Y'S[a\Tel

05 D A
UNWWXFYZ [\X]J] " Y"S[a\Tel

05 D A
UWWXFYZ [\X]J] " Y'S[a[S1a

05 D A
UWWXFYZ [\X]] * Y"S[a -%!

05 D A
UWWXFYZ [\X]] " Y'S[a[!ff

05 D A
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05 D A
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1 ; 9557 67 = : 05 D A
+ gl ;+ $ 4> ,; 57% g UWWXEYZ [\X]T” V'S[a'a[1
1 ; 9557 67 = _ 05 D A
+ g9l ;+ $ 4> ,; 57% g UWWXEYZ [\XT1 " V'S[a'[1
# : Y ;
12 A $ = o~ D A
4’1 g ) ’ UWWXEYZ [\XI1 " V'S[\ eaa
# N ;
1- - 9 $$ ¥ $ = 05 D A
4’1 g ’ UWWXEYZ [\X]1 VSN \af
1S # - ) $ ; 05 D A




4 . : $ 9% 5= UMWKETZ [\CTA VSN If
P s 05 D A

H 4 - s : $ 9% $ = UMWXFYZ [\XT] A VSN &e%
’ | : . 05 D A

H A . : P 9% $ = UMWXFYZ [\X]1 A VSN S\1
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KoJsun4yecTBo 4acoB DJIeKTPOHHbIE
ugposbie
Nen/m | Tema ypoka KounTtposbHbie wabp
Bcero oOpa3oBaTejibHbIE
padoThI
pecypcsbl
; 05 D A
B ;43 57 % UWWXFYZ N\XTT ™ Y ST \%%! !
B ; 4% C B4 $$=% # 05 D A
57 $ UWWXAYZ I\NXJT~ VS[\% 11
8 B ; >3 ; 8 05 D A
57 $ # ,+ ;54 UWWXFYZ [\XTT A YS\%- 1
) ) 05 D A
B P4+ S > $ < UWWXAYZ INXJT A Y S\%- 1
. 05 D A
S 4 8B 5= 58 UWIXFYZ [\XJ1 A VYS[\ __ a
- . 05 D A
1 +4 $+=<B;;$ UmiXeYZ N1 SN 2[
; . 05 D A
T o $ 57; % : B UWWXAYZ I\XTT ™ YST\%\[-
B ; ;4 $ =% = 05 D A
@ B UWWXAYZ I\NXJT~ Y'S[\% ef
) B < 7 +< ;467 $4 05 D A
. UWWXFYZ [\X]]* Y"S[\%2 f
UWWXAYZ I\XTT ™ Y ST\%F\!
B ;<= ;C 05 D A
UWWXAYZ [\XTT ™ Y S[\%TF-




5 ;’ C ’ b
$4 i $B$$# $B 4 05 D A
? ’ UWWXEYZ T\XTT A Y S\%TF-
$8 #
% : 9557 67 =
+ g B ; 435C ¢
) : 9557 67 =
+ g B ; 435C ¢
S $ 4 3 $ 05 D A
:E ;4 UWWXEYZ I\NXTT 2 VST e&%
1 s 5 < 05 D A
UWWXEYZ [\XJT 2 VST 21-
05 D A
T $ 433 4+ UWWXEYZ I\NTT 2 VST a
. $ $ 9%, ;=:% 05 D A
’ $ =3¢ +< UWMWXEYZ N1 VSN [ f
05 D A
2 @ +<#$ $ UWWXIYZ \XJTA VS\& T-
% $; < 3% B :;# % 4 065 D A
$ =% =@ B UWWXEZ [\XTT A Y 1 -%S%a-
_ 05 D A
$ $ ¥ =% 40 B 4 UWWXEYZ [\ 2 VS\&-Ta
$ $ ; 05 D A
$% =% =@ B UWWXEYZ N1 2 VST\&L&[
- ¢ 05 D A
& B 5 345,:% 8 UWWXEYZ [\XJT 2 YV 1-%2f8-
) $ 4 57 $ 05 D A
;3 UWWXEYZ [\XTT 2 V'S[\-2e
S $ 4 # 4 05 D A




UNWWXFYZ [\XTJ] " Y'S[\- -a

05 D A
UWWXFYZ [\X]] " _Y"S[\-eS1

$ # - BS$S

05 D A
UNWWXFYZ T\XTT " Y SIN-\[

05 D A
UWWXFYZ [\X]]* Y"S[\----

;<88 & +

05 D A
UWWXEYZ T\XT1 * Y"S[\&2a

;488 + $8 =5 =

05 D A
UWWXFYZ T\XTT ™ YV ST\& T%F

$ 4H

05 D A
UWWXFYZ T\XTT ™ YSTN&\-1

$ $

05 D A
UNWWXFYZ [\XTJ] ™ Y'S[\& 2-

; 9557 67 =
$ 43C ¢

05 D A
UWWXEYZ [\X]] ~ Y"S[\S&la

: 9557 67 =
$ 43C ¢

05 D A
UWWXFYZ [\XT] " Y'ST\SS&!

&S

05 D A
UNWWXFYZ [\XTJT " Y'S[\STT

&l

05 D A
UWWXEYZ [\XT] * Y"SI\STT

&T

05 D A
UWWXFYZ [\XT] * Y"S[\STT

&!

$

7 %

05 D A
UWWXEYZ [\XT] * Y"S[\STT

&2

A ;S

B4 $=% =0 B

05 D A
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A :$ B ;;< $ 5 <
b # > 55 $8=$ = 05 D A
a 5 UWMWXEYZ N1 A Y 1-%S1 -
B Asi$ B ;< 54, ;% 05 D A
# > 5 ; $% =% =@ B UWWXEWZ \XTT A V' 1-%S1 -
- 8 : ,+<, 7 < 05 D A
UWWXEYZ [N 2 Y 1-%21\1
& # ; # > ;% 8 05 D A
; E ;o= UWWXEYZ [\ 2 Y 1-%T1S!
. #:,B :;09: < C +< 05 D A
6 $ 8 B UNWXEYZ TN A V1 -%T[%F
_s # ; $+ =;<8 05 D A
; E ;o= UNWXEYZ T\NXTT A V1 -%T %
.. _ _ 05 D A
- 54, 55 8 N - UWWXEYZ [\X]T 2 Y 1-%181
T # ; <8 05 D A
; E ;o= UNWXFYZ [\X]T " V" 1-%1T1f
5:; <8 :  E ;o=
$ $. .. 05 D A
-1 $ $ +:9 E ;; ;8 .
. UNWXFYZ [\X]] " V" 1-%!T1f
# ;> # <8
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05 D A
S% T# o 7 $ ;9 . .
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s # : 05 D A
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S $ + 5, ;4 $$ =% = 05 D A
@ B UWWXEWZ [\XTT A V1 -%!1S[-

S8 # ; 05 D A
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) 05 D A
S ! #3 7 $ UWWXRYZ T\XTT A Y 1-%1%!a

- 05 D A
SS # ’ UWWXIYZ T\XTT A Y 1-%28S-

s1 $5;; 8 # ; = $ ;9% 05 D A
;% E ;; ;8 UWWXEYZ [\XTT 2 ¥ 1-%28S-

ST $; ;< B:< ;$ B ;; #7 05 D A
5 >:# - B$$ UWWXEYZ [\XTT A Y 1-%2-"1

St $; < 1 ;B :i<# > ;$ # 05 D A
) - B$$ UWWXEYZ [\XTT A V=% -

S $; ;< B i< + ;9% D # 05 D A
B $$ UWWXEYZ [\X]T A Y 1-%2 \1!

1% $; <t B o # 05 D A
B $$ UWWXEYZ [\XTT 2 ¥ 1-%28S-

;9557 67 =
57% ;;<8 ; E; = $$ =% = UWWXEYZ [\ 2 V1 -%2e[
@ B ¢
;9557 67 =

. + g 4 - 05 D A

57% ;;<8 ; E; = $$ =% = UWWXEYZ [\NXTT 2 Y 1=%2\ [
@ B ¢

1& # : A : 05 D A

, ;9 %3 $ = UWWXEYZ [\X]] A Y1 -%eT&f




4 ;9
# : ;1 8 ;
1- ; : 9 $% 05 DA
UMXEYZ T\X]]A V1 -%e!
4 ;9
# : ;02708 ; 0s b A
13 ;1 - g ) ;9 8 UWWXFYZ [\X]] A V1 -%eff%
# : ;027§
11 , : ;9 %%
4 ;8
# : ;027§
1T , : ;9 %% $
4 ;8
;9557 67 =
11 + g # ; 05 D A
) 57%$ ;<8 ; E; = $$ =% UNWXFYZ [\X]] A Y I-%ea--
@ B
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